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QUESTION 1

Push the Exhibit Button to load the referenced "XML Document".

[ZML Document]
<Infinished =zmlns="urn:=zmlmaster: TNFINISHED":>
< Item:
<Mlnrkerr ¥mlna=Turn:*xmlimaster MMOREERT
Natne="Jeff Workman"/ >
<Activity =xmlns="urn:=mlmaster:VISIT"
Code="000z ">
<DateTimex>2004-07-01 13 :00</DateTimex
<Job Procedure="Install sir conditioner™
Time="zZ" >
<3tarus>MAITING</ Statuss
<fAotivitys
= TLems-
< Item:>
<llorker Xmwlns="urn: mwlEster: TOREER™ MNatne="Jim
Worker "/ >
<hetivity Hmlns="urn: xmlmwaster:VISIT"
Code="0003 ">
<DateTime>2004-07-01 16:00</DateTime>
<Job Procedure="Clean air conditioner™
Tite="2"/ >
<3tatuss>WMAITING</Statuss
<fActivitys
</ Items
</Unfinished:

When processing the "XML Document" according to the method shown by "DOM Processing," which of the following is
the most appropriate expression of the results under XML 1.0? Line feeds and/or indents are not reflected in the results.
Assume that the processed XML Document has no indents (ignorable white space such as line feeds, tabs, etc.).

Latest 110-002 Dumps | 110-002 VCE Dumps | 110-002 Study Guide 2/8


https://www.pass4itsure.com/i10-002.html
https://www.pass4itsure.com/i10-002.html
https://www.pass4itsure.com/i10-002.html

VCE & PDF https://www.pass4itsure.com/i10-002.html
a 2024 Latest passditsure 110-002 PDF and VCE dumps Download

— PassditSure.com

[DOM Procesing]
Create XML using the following method.
Docurent output = createddL( doc, impl ) :
The swariable doo here references the lUocunment 1hstance of the loaded XML DocudneEnt.
The wvariable impl here references the DONImplementation instance.
The DOM parser is namespace avare.
Azswne no executlon errors.

public static Document createlML (| Document doc, DOMInplementation impl |
String nawe = "Jim Worker™;
Dozument output = impl.createDocument [

"urn:xmlmaster:LIST™, "List"™, null):
Elzment root = output.getlDocumentElement () ;

NodeList nl = doc.getElementsBEyvTaghameNS ("urn: xmlmaster : WOREER"™, "Worker™) :
for (int i = 0; i < nl.getlengthi(); i4+4+) {
Element el = [Element)nl.item(i) :
il (ml.ygeLdailiribivbe [ "Nome™) cegquels (ame) ) F
Element elem = output.createElementMI |
Purn:xmlmaster :LISTH, "WisitcList™):
root.appendChild{output. importiNode1el, true)]):
Elewment 22 = (Element]el.getMNextIiblingi) ;
root.appendChildioutput. importhode 122, true)]:
H
i

recurn output:

A. 2004-07-01 16:00 WAITING

B. 2004-07-01 16:00 WAITING

C. C. 2004-07-01 16:00 WAITING
D. D.D. 2004-07-01 16:00 WAITING

Correct Answer: C

QUESTION 2

Which of the following describes the most correct call order of the ContentHandler interface methods when parsing the
following "XML Document” using a validating SAX parser? This question reflects line feeds within the XML Document.

[EZML Document]

<?%ml version="1.0"2x>
<I!DOCTYPE a [

< !|ELEMENT = (#PCDATL | b)) *>
<'ELEMENT k (#DCDATA)»

1=

<8xr

<hbzo</hbx

<far

A. startDocument - startElement - ignorableWhitespace - startElement - characters - endElement ignorableWhitespace
-endElement - endDocument

B. startDocument - startElement - characters - startElement - characters - endElement - characters endElement
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-endDocument
C. startDocument - startElement - startElement - characters - endElement - endElement - endDocument

D. startDocument - startElement - startElement - characters - endElement - ignorableWhitespace endElement
-endDocument

Correct Answer: B

QUESTION 3

Push the Exhibit Button to load the referenced "testml.xsd".

[testml. xad]
<x3:=chema
xmlns:x¥s="htop://wirw. w3 . org/ 2001/ ZNL3chema™ >
Lusielement name="lestML" Cype="testmllype™ />
<xs:complexType aame="testmlType":-
<X3:Sequences:
<xa:element cef="person”
maxQOccurs="unbounded" />
<f X3 i13equencex
</wa:complexTyper

<ys:element name="person" type="personType" />
<xsicomplexType aame="personType'=>
<¥3 ! SeqUENCE:
<xz:element zef="name" />
<xs:element ef="phone" />
</ ®a 1 sequencer
</®zicomplexTypesr

<xzielement name="hname” type="wg:string” S
<xz:ielement name="phone"” type="xs:scring™ S
</ wsischemar

Assume that "testml.xsd" is defined. Without rewriting this XML Schema Document (“testml.xsd"), create a new,
separate XML Schema Document to partially change the schema definition to write a cellPhone element as a child
element of the person element. As a result, the following "XML Document” will be valid against the new schema. Which
of the following correctly describes the new XML Schema Document? Assume the XML parser correctly processes the
XML schema schemalocation attribute.
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[EML Document]
<TestML>
<pErIon:>
<name>John Smith</ nemes
<phone>03-0000-29929</ phone >
<pellPhone>000-1111-2222</cellPhones
</ personx
</ TestML>

(" A& <ws:schema xmlns:xs="hctp://wuw.ws.org/2001/XNLSchema™:
<H5:import schemalLoocation="testml.xsd" [f>
~Xs: complexType name="personType" >
<xS:sequences
<Hg:element ref="name" />
<xs:element ref="phone" />
<xg:element ref="cellPhone" />
</ w31 sequencex
< fxs:complexType:-
<xarelement name="cellPhone™ type="wxz:istring™ />
</ ®s:3chemar

" = <#s:ischema ¥mlns:=s="http://vuw.w3l.org/2001/ XML 3chemat >
<x5:incinde schemalLocation="testml.xsd" [f>
XK= :complexType name="newPersonType" substitutionGroup="personType'">->
XS 3equUEnces>
f<xg:element ref="name=" />
fxs:element ref="phone" />
fxg:element ref="cellPhone™ />
</ wasequences
<frsivumplexType-
<xs:element name="cellPhone”™ cype="uxs:scring” />
</ xa:achemas

£ S <x3iachema xmlns:xs="http://www. w3 . org/ 2001/ XNLSchema' >
<uziredefine schemalocation="testml.xsd":>
<xz:complexType hawe="personType’>
<¥SicomplexContent>
fxZiextension base="personType">r
<HS: SEQqUENCER
<xs:element ref="cellFPhone™ />
</ HE:sequencer
£/ HsexXtensions
</ wa:icomplexContent >
</us:complexTypesr
</Hs:redefiner
<xs:ielement name="cellPhone”™ type="xs:string”™ /»
</ x5 schemas

G ] It iz not possible to implement & function of the type proposed.

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C
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QUESTION 4

Push the Exhibit Button to load the referenced "XML Document".

[XML Document] (<
<Infinished xmlns="urn:xmlmaster: TNFINISHED ™
<List>
<Morker =mlns='urn:=mlmastcer: MOREERY
Maucs—"J0=LL WoLhiall®/ -
<horivicy xmlns="urn:xmlmaster:VISITY
Code="0002 "=
<DateTime>2004-07-01 13 :00</DateTime>
<Location xxmlns="urn:xmlmaster : CONTLCTM>
<MName>John Smith</Name:>
<Addressr31injuku Ward Tokvo</Lddress:>
</ Locations
<Jokh Proceduse="Install A:r Conditioner”
Time="z"/ >
LAl US S COMPLETED - S S enL WS
< Aotivitys
<horvivicy x¥xmlns="urn:xmlmaster:VISIT®
Code="0003 "=
<DateTime>2004-07-01 16:00</DateTime>
<Location #mlns="urn:xmlmaster : CONTLCTM:
<MName>Een Iiller</Name>
<hddress>3iibuya Ward Tokyo</ Address»
</ Locacions>
<Joh Proceduse="Clean air conditioner™
L1mE=" sy >
<3catusx>MATITING</ Status>
</ Activitys
</ List>
</ Unfinisheds>

When processing the "XML Document" according to the method shown by "DOM Processing," which of the

following correctly describes the output results (print and/or printin method output)? Although the expected processing
result is choice "A", processing may not occur as expected.
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[DOM Processing]
Process ZML usiag the folloving method.
prrincEML | doe | ;
The wariable doe here references the Docuwent instarce of the loaded XML Document.
The DQM parser 13 namespace avare.
Azzume no execu-ion errora.

public static wvoid printXML({ Documwent doc | o
Node node = doc.getElementaByTaghamells |
furn:xmlmaster i CONTACT™, "MNewe™) .item (0] :
String name = node.getFirstChild() .getMNodeValue () ;

HNodelList nl = doc.getElementabByTagianeNs ("urn: xmlmaster it VISITY, "Aoctivity™) :

for {(int i = 0; i < nl.getlength(): i—+) 4
Element elem = [(Element nl.item(i):
node = elem.getElementsByTaghameNs |
furn: ¥xmlwaster :VISITY, "DatceTiwe™) .item(0) ;
System.out..arint (Mot Visited:™):
System.out.arint (node.getFirstChild ) cgetlodeValue() ) ;
System.out.arint (" Worker=" 4 name) :
node = elem.getElement abyTagllamells (
furn:¥mlmaster s CONTACTY, "MNewe™) .item(0)
System.out _arint (f, Wi=sitc (") !

Syatem.out.rint (node.gecFirstChild ) .gectlodeValue (] ;
System.out.arintln(™) ™)

A. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=Jeff
Workman, Visit(Ken Miller)

B. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=John
Smith, Visit(Ken Miller)

C. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith)
D. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith)

Correct Answer: B

QUESTION 5

Which of the following is incorrect with respect to general characteristics of DOM (Level 2) processing and data binding
tool processing?

A. Data types such as integers and dates cannot be handled by DOM; however, a data binding tool can be used to
handlethe data type

B. A validation against the schema cannot be performed with the DOM; however, a data binding tool can be used to
performa validation against the schema

C. A DOM parser cannot be used to execute a program created to use a different DOM parser; however, a data binding
toolcan be used to execute a program created to use a different data binding tool

D. For a compiled programming language, compared to DOM processing, a data binding tool can detect more element
namemistakes and other programming errors during compiling

Correct Answer: C
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